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Abstract. [11288] For a set S ⊆ {1, . . . , m} and a positive integer d, let hd
S

be the sum of all monomials of degree d in the indeterminates {xi : i ∈ S}.
Also, let o(S) denote the number of odd integers in S. Fix a positive integer
n and let U = {1, . . . , 2n}. Prove that
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U

nY
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(x2i−1 − x2i) =
X
S

(−1)o(S)hd+n
U\S

,

where this sum is over all S ⊆ U , |S| = n, with the property that {2i−1, 2i} *
S for every i = 1, . . . , n.

Department of Mathematics, Texas A&M University, College Station, TX 77843
E-mail address: chillar@math.tamu.edu

Department of Mathematics, University of Copenhagen, Denmark.
E-mail address: windfeldt@math.ku.dk

1


